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1. Efficiency means that
a. society is conserving resources in order to save them for the future.
b. society's goods and services are distributed equally among society's members.
c. society's goods and services are distributed fairly, though not necessarily equally,
among society's members.

d. society is getting the maximum benefits from its scarce resources.
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2. While pollution regulations yield the benefit of a cleaner environment and the improved

health that comes with it, the regulations come at the cost of reducing the incomes of the

regulated firms’ owners, workers, and customers.

that

a. trade can make everyone better off.

b. rational people think at the margin.

c. people face tradeoffs.

d. people respond to incentives.

3. The production possibilities frontier illustrates

the combinations of output that an economy should produce.

a
b. the combinations of output that an economy should consume.
c. the combinations of output that an economy can produce.

d

All of the above are correct.

This statement illustrates the principle

4. 1In a competitive market, the quantity of a product produced and the price of the product are

determined by

a. asingle buyer.

b. a single seller.

c. one buyer and one seller working together.

d. all buyers and all sellers.

Table 1

Assume that Andia and Zardia can switch between producing wheat and producing beef at a

constant rate.

Minutes Needed to Make 1

Bushel of Pound of
Wheat Beef
Andia 20 12
Zardia 15 10

5. Refer to Table 1.

Assume that Andia and Zardia each has 360 minutes available.

If each

person divides his time equally between the production of wheat and beef, then total

production is

a. 10.5 bushels of wheat and 16.5 pounds of beef.
b. 21 bushels of wheat and 33 pounds of beef.
c. 35 bushels of wheat and 22 pounds of beef.
d. 42 bushels of wheat and 66 pounds of beef.
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6. Refer to Table 1. Which of the following combinations of wheat and beef could Andia

produce in one 8-hour day?

a. 6 bushels of wheat and 35 pounds of beef
b. 9 bushels of wheat and 25 pounds of beef
c. 15 bushels of wheat and 20 pounds of beef
d. 24 bushels of wheat and 40 pounds of beef

7. Which of the following is not an example of a market?
A small town has only one seller of electricity.
In the United States, a sick person cannot legally purchase a kidney.

In Florida, there are many buyers and sellers of key lime pie.

oo o ow

The availability of Internet shopping has expanded the clothing choices for buyers

who do not live near large cities.

8. Assume the market for tennis balls is perfectly competitive. When one tennis ball producer

exits the market,
the price of tennis balls increases.
the price of tennis balls decreases.

the price of tennis balls does not change.

oo o ow

there is no longer a market for tennis balls.

9. A monopoly is a market with one
a. seller, and that seller is a price taker.
b. seller, and that seller sets the price.
c. buyer, and that buyer is a price taker.

d. buyer, and that buyer sets the price.

10. A decrease in quantity demanded
a. results in a movement downward and to the right along a demand curve.
b. results in a movement upward and to the left along a demand curve.
c. shifts the demand curve to the left.

d. shifts the demand curve to the right.

11. A movement upward and to the left along a demand curve is called a(n)
a. increase in demand.
b. decrease in demand.
c. decrease in quantity demanded.

d. increase in quantity demanded.

Ei
W
m
S
N

s

oo
m
~



12. A decrease in the price of a good will

a. increase demand.
b. decrease demand.
c. increase quantity demanded.

d. decrease quantity demanded.

13. When the price of a good or service changes,

the supply curve shifts in the opposite direction.

a
b. the demand curve shifts in the opposite direction.
c. the demand curve shifts in the same direction.

d

there is a movement along a given demand curve.

14. The price elasticity of demand measures how much

quantity demanded responds to a change in price.

a
b. quantity demanded responds to a change in income.
c. price responds to a change in demand.

d

demand responds to a change in supply.

15. The price elasticity of demand for a good measures the willingness of
consumers to buy less of the good as price rises.
consumers to avoid monopolistic markets in favor of competitive markets.

firms to produce more of a good as price rises.

oo o ow

firms to respond to the tastes of consumers.

16. The price elasticity of demand for bread
a. 1is computed as the percentage change in quantity demanded of bread divided by
the percentage change in price of bread.
b. depends, in part, on the availability of close substitutes for bread.
c. reflects the many economic, social, and psychological forces that influence
consumers' tastes for bread.

d. All of the above are correct.

17. The price elasticity of demand for eggs
a. 1s computed as the percentage change in quantity demanded of eggs divided by the
percentage change in price of eggs.
b. will be lower if there is a new invention that is a close substitute for eggs.
c. will be higher if consumers consider eggs to be a necessity.

All of the above are correct.
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18. Consumer surplus is the
a. amount of a good consumers get without paying anything.
b. amount a consumer pays minus the amount the consumer is willing to pay.
c. amount a consumer is willing to pay minus the amount the consumer actually pays.

d. value of a good to a consumer.

Table 2
This table refers to five possible buyers' willingness to pay for a case of Vanilla Coke.
Buyer Willingness To Pay
David $8.50
Laura $7.00

Megan $5.50
Mallory $4.00
Audrey $3.50

19. Refer to Table 2. If the price of Vanilla Coke is $6.90, who will purchase the good?
all five individuals

Megan, Mallory and Audrey

David, Laura and Megan

oo o ow

David and Laura

20. Refer to Table 2. Which of the following is nof true?
At a price of $9.00, no buyer is willing to purchase Vanilla Coke.
At a price of $5.50, Megan is indifferent between buying a case of Vanilla Coke
and not buying one.
c. At a price of $4.00, total consumer surplus in the market will be $9.00.

All of the above are correct.

21. Refer to Table 2. If the market price is $5.50, the consumer surplus in the market will be
a. $3.00.

b. $4.50.
c. $15.50.
d. $21.00.

22. What is the fundamental basis for trade among nations?
shortages or surpluses in nations that do not trade
misguided economic policies

absolute advantage

/a o o e

comparative advantage
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23. Market failure can be caused by
a. too much competition.
b. externalities.
c. low consumer demand.

d. scarcity.

24. Wiladee used to work as an office manager, earning $25,000 per year. She gave up that job to
start a tailoring business. In calculating the economic profit of her tailoring business, the

$25,000 income that she gave up is counted as part of the tailoring firm's

total revenue.

a
b. opportunity costs.
c. explicit costs.

d

marginal costs.

25. Tom quit his $65,000 a year corporate lawyer job to open up his own law practice. In Tom's
first year in business his total revenue equaled $150,000. Tom's explicit cost during the year

totaled $85,000. What is Tom’s economic profit for his first year in business?

a. %0

b. $20,000
c. $65,000
d. $85,000

Ei
oo
m
S
N

s

oo
m
~



